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1.

Ne
Which stateméfit is incorrect about
the development and its relationship

with learning ?

(1) Deprivation of learning
opportunities limits
development.

(2) Children can not learn until
they are developmentally ready

N
to learn. e

3) Developmﬁ}nt is the product of
maturatio:goand learning.

(4) Despite théllimits of maturation
the development can go beyond
a certain point, when learning
is encouraged.

Which one of the following is
not a component of progressive
education ?

(1) Discussion

(2) Memorization

(3) Experientgtion

(4) Interactiogy,
N

Which of thﬁ;following types of
questions is not suitable for testing
student's expression of feelings
and logical thinking ?

(1) Analytical type

(2) Critical type

(3) Discussion type

(4) Multiple option type

N e
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4.

'A disorder of wmtmg ability in which
a learner has Fdlfflculty with letter

formation, s;@lhng, fine motor

co-ordination etc.' This disorder is
called as :
(1) Dyslexia

Dysgraphia
(2) Dysgrap o
(3) Dyspraxiag,

o

(4) Dyscalcul{g)

' a8
Which option is correct regarding
emotions in early adolescence ?
(1) Intense and rational
(2) Uncontrolled and rational

(3) Uncontrolled and irrational

(4) Controlled and intense

Select the correct sequence (top to
bottom) of hierarchical intelligence

theory of Vernon :

(1) General factor — Specific factor

.M :
— Major fagtor — Minor factor
CD

(2) Specific factor — General factor

— Minor famtor — Major factor

(3) General factor —» Major factor —

Minor factor — Specific factor

(4) Major factor — General factor —

Specific factor — Minor factor
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Arrange the steps of Bandura's
social learning theory in sequence :

(a) Perception of behaviour

(b) Reinforcement of behaviour

(c) Remember of behaviour

(d) Convert the memory into action
Choose the correct code :

(1) (a), (¢), (d), (b)

(2) (b), (a), (c), (d)

@3) (©), (d), (a), (b)

4) (), (), (d), (a)

Which of the following is not an
environmental factor
teaching-learning ?

affecting
(1) Learning material
(2) Physical conditions %’?
(3) Recreational facilities

(4) Maturation

Which of the following is not
influenced by heredity ?

(1) Aptitude
(2) Attitude
(3) Emotions
(4) Interest

When the assessment is designed
to evaluate student's overall
achievement and proficiency at the
end of a learning period is known
as:

1) Assessment of learning
(2) Assessment for diagnosing
(3) Assessment for learning
(4) Assessment for remedy
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11.

12.

13.

14.

According to McDougall, the emotion

of 'disgust' is associated with which

basic instinct ?

(1) Repulsion

(2) Escape
(3) Combat
(4) Curiosity

Which of the following should not be

a need of children with impairment

from the point of view of inclusive

education ?

(1) Need for coping with own's
impairment

(2) Need for proper guidance &
counselling

(3) Need for being dependent on
others

(4) Need for assistive equipments

Which constitutional right of
children with special needs does
inclusive education protect ?

(1) Right to Education
S

(2) Right to Respect
(3) Right to Acceptance

Which of the following is not an
acquired motive ?

(1) Affiliation

(4) Right to Integration

(2) Achievement
(3) Approval

(4) Pain avoidance
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Which of the following ways of
instruction is suitable for hearing
impaired children ?

(a) Sign language

(b) Finger spelling

(c) Lip reading

(d) Cued speech

Choose the correct code :
(1) (a) and (c)

(2) (a), (b) and (c)

(3) (a), (c) and (d)

(4) (a), (b), () and (d)

According to Freud's psycho-sexual
development theory, the stage in
which adolescent attracts towards
opposite sex, is known as :
(1) Phallic stage

(2) Anal stage %

(3) Genital stage
(4) Latency stage

According to Piaget's cognitive
development theory, when the
learner maintaining a proper balance
between himself/herself and his/her
environment, this mechanism is
called as :

(1) Accommodation
(2) Assimilation
(3) Equilibration
(4) Integration

P.T.0.
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18.

19.

20.

Which of the following 1s not a

characteristic of Inclusiyg

education ?
(1) It supports spe

needs | |
(2) Itsaysto celebrate diversity

cial educationg

(3) This ensures the participation of
teacher, parents, child and society

(4) It is limited to the special
education of disabled children

Which tests can bé administered
by the teacher to identify creative
children ?

(a) Figure construction test

(b) Product improvement test

(c) Usual uses test

(d) Picture completion test

Choose the correct code :

(1) (a) and (d)

(2) (b) and (c) %
(3) (@), (b) and (d)

(4) (), (b), (c) and (d)

Which of the following is not a
helpful action of teacher in promoting
socialization among children ?

(1) Giving the individual project
work
(2) Assigning social responsibilities

(3) Organizing
activities

Co-curricular

(4) Motivating for
participation

social
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21.

22.

23.

24.

Tﬂ [9/B]

Which of the following is not a child
centered method of learning ?

(1) Demonstration

(2) Field Trip ™

(3) Programme;glnstruction

: N
(4) Project N

; Bt

Which strategleag of learning is not
appropriate for the learner of
senior secondary level ?

(1) Learning tasks at memory level

(2) Allowing
knowledge

(3) Giving appropriate space to
classroom interaction

(4) Student
learning

Which of the fgllowing statements
regarding intellrgence are not true ?

(a) Intellectual% development is
influenced pdpy genetics, not
environment.

(b) Gender differences do not
cause intellectual differences.

(c) Sharp intelligence i1s a sign of
sharp memory.

(d) Intelligence gives the ability to
adjust in new situations.

Choose the correct code :
(1) (a) and (b) m(z) (a) and (c)
(3) (b) and (d)oo(4) (c) and (d)
N
Which of the E!obllowing is not a

feature of pontinuous and
comprehensive evaluation ?

self-discovery of

centered teaching-

(1) Regularity of assessment
(2) Frequency of unit tests
(3) Diagnosis of learning gaps

(4) Measuring only scholastic
achievement
o "
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25.

26.

21.

v

Which of the following 1s not an
example of developmental changes
under acquisition of new features ?

(1) Permaneorjt teeth
(2) Primary sex characteristics

(3) Seconda%t sex characteristics
(4) Thymus g}and

Match the following stages of
Kohlberg's moral development
theory with their characteristics :
Moral Stages Characteristics
(a) Conforming to (i) Cetting the approval
obtain rewarf of others
(b) Maintaining g{:ial (ii) Stage based on self-
order N interest
(c) Good interpe%fnal (iii) Eternal value accepted
relationships (1 by conscience
(d) Universal ethical (iv) Importance of justice
principles and law
Choose the correct code :
@ @ (© (@
(1) G) @v) @) (iii)
(@) (i) @) i)  (iv)
@ (v G @ i)
CORN¢Y) )  (@v) (i)

Which of the following statement is
net correct.yegarding individual
differences
() Individu:‘l' differences exist in
both cognitive and psychomotor
domain,\©
; n
(2) Spe‘m‘es characteristics influence
Individual differences.
3) The Cause of jndividual
differences g the social

environment n .
. » not the physical
environment. pny

(4) %&ge lalso has an effect on
Individug] differences
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In a learning situation presenting
relevant facts separately from non-
relevant facts, is indicative of which
principle of learning ?

(1) Principle of multiple response
(2) Principle of analogy

(3) Principle of prepotency of
elements

(4) Principle of associative shifting

Which of the following is not a
common characteristic of deprived
children ?

_ (1) They look physically challenged

(2) They are socially disadvantaged

| (3) They are economically deprived

(4) They feel emotionally inferior

Which of the following gender

biased actions are not to be

involved in educational practices ?

(a) Homogeneous grouping

(b) Gender neutral content

(c) Stereotyped occupation
guidance

(d) Teacher's prejudiced attitude

Choose the correct code :

(1) (a) and (b)

(2) (a), (c) and (d)

(3) (c) and (d)

(4) (a), (b) and (c)

i
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35l / ENGLISH

Direction : Answer the following questions by selecting the most app

...!.,5
ot

ropriate option.

46. Choose the correct option :

Assertion A : The disadvantage of
print material is that it lacks
interaction and the use of audio-

visual elements.

Assertion B :@ Print materials are
not portable, not easily available
and are not cost effective.

(1) Aistrue; Bis false
(2) Bistrue; A is false
(3) Both A & B are true
(4) Both A & B are false

Direction : (Q. No. 47 to 56) : Read the
following poem and answer the
questions that follow :

Mother, I am the one

you sent away %
when the doctor told you

I'would be

a girl —In the end they had to

give me an injection to kill me.

Before I died I heard

the traffic rushing outside, the monsoon
slush, the wind sulking through

your beloved Mumbaij —

I could have clutched the neon blue

no one wanted —

No one wanted

To touch me —except later in the
autopsy room

[ Level-3/5316 1

outh would not

when they knew my m
search

for anything — and my head could be
measured

and bent cut apart.

I looked like a sbced? pomegranate

The fruit you never to::ched

Mother, I am the on&you sent away

When the doctor told you

I would be a girl —your second girl.

Afterwards, as soon as you could

you put on your grass — green sari —

 the orange stems of the parijatak

blossoms
oM
glistened in your haip —
(09]
Afterwards o
o

everyone smiled. O

But now I ask you |

to look for me, mo ther,

look for me because

I'won't come to you in your dreams,
Look for me, mother, look

because I won't bec:ti}ne a flower

I'won't turn into a bl)tte.rﬂy

N
AndIam not a partgf anyone's song.
Look, mother, m

look for the place where you have

Sent me.
Look for the unspeakabpl]e.

for the place that cap never be described.

s



Look for me, mother, becayse

this is what you have done.

Look for me, mother, because

this is not 'God's wi]l'.

Look for me, mother

because I smell of formaldehyde -

Ismell of formaldehyde

and still, I wish you would look

for me, mother.

41. Who does the girl address ?

48.

49.

(1) the doctor
(2) the society
(3) the father

(4) the mother

In which city does the foeticide

take place ?

(1) Delhi |

(2) Chennai %
(8) Mumbai

(4) Pune

What does the killed infant smell
of ?

(1) formaldehyde

(2) parijatak

(3) chlorine

(4) slush

[ Level-3/5316 ]
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50. Who is "I" in the opening line ?

51.

52.

53.

()

(1) the poet ™
o

(2) the killed irffdnt girl
O

(3) mother m

(4) the doctor

Fill in the blank with the correct
option :

According to the speaker the

mother disliked”......... .
o

co
N

o
(2) parijatak blassoms
' M

(1) oranges

(3) pomegranates

(4) the grass-green sari

Find a word from the poem which
means "post mortem" :

(1) formaldehyde

(2) injection to kill

(8) neon blue

(4) autopsy

™M

08
Why was the wfant in the womb
killed ? g

M

(1) because it was defective

(2) because the mother didn't want

a second girl child
(3) doctor's mistake
JL'-..

(4) it was uglyz
P.T.Q,
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54. Which one of the following is used

55.

56.

51.

as a literary device in the poem for

effectiveness ?
(1) repetition
(2) climax
(8) irony
(4) metaphor

Fill in the blank with the correct
option :

"I looked like a sliced pomegranate"
is an example of ............. .

(1) metaphor

(2) animplied simile

(3) irony 3
(4) simile T

Find the word in the poem which
means "shone due to being wet".

(1) glistened
(2) sulking

(3) clutched
(4) blossom

Fill in the blank with the correct
option :
Nesfield's grammar is an instance

(o) [ R——— grammar.
(1) universal

(2) cognitive

(3) descriptive

(4) prescriptive

58.

59.

60.

Fill in the blank with the correct
option:

............. skill (i;}volves training the
learner to Iisgn for the English
speech sounds] including stress

; . O
and intonationgatterns.

_ M
(1) listening
(2) aural-oral

(3) reading

(4) writing

Fill in the blank with the correct
option :
P o

Teaching leaiggers to discuss a
poem in En%sh in their native
language is angnstance of the use

M

L - .
(1) evaluative comprehension
(2) multilingual resources

(3) pre-reading skills

(4) firstlanguage acquisition

Fill in the blat%k with the correct
option : ™

le'e)
The two I&C‘gds of listening
are ............. Vo)

. m

(1) active and passive

(2) skimming and scanning
(3) intensive and extensive

(4) referential and inferential

[ Level-3 /5316 ]
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ol "
L

a1 — 11/ PART — i
g AT / GENERAL STUDIES

AR AT e ;
’ T 9HY 9 U9 AR / QUANTITATIVE AP
REASONING ABILI®Y AND G.K. & AWARENESS TOHES,

P : TR ardh & o 233 @ Re g o P g

irection : - :
_.l_?i_ Answe}\’1?h(e following questions by selecting the most appropriate option.

6l. T T iR wh wHeg Bem o 6l. A

square and an edquilateral

P T T Y Y AR 4 o b
mﬁT:ﬁEﬁﬂmqﬁmgjaﬁq

triangle are inscribed in a circle. If
a and b denote the lengths of their

g § - FTE ? sides respectively, then which of
(1) 2a® 2 the following is true ?
a ' =3b
- (1) 2a%=3b°
(2) 382 :23?7 2 2
?3 (2) 36 =2b
2 _ 2
B) a“=3b % @ B .
(4) b% =250 @ b ozat

The surface areas of the two

62. o Tl F UL G A 1 : 2 @ 62.
S B % STEGA ST €

spheres are in the ratio 1 : 2. The

ratio of their volumes is:

ol
s (1) 1:2
@) 1:2 @) 1:2 ?‘%
3) 1:2+2 3) 1:2V2
4) 1:4 4) 1:4
m . - N s
& qg FA HIT 63. Find the missing term in the
o ﬁq %‘gﬁ @:ﬁ following number series :
2391281?1126!217i344 g ’
= 2,9, 28,7, 126,217, 344
(1) 37 M (1) 37
(2) 65 A2) 65
(3) 91 (3) 91
P.T.O.

[ Level-3 /5316 ] ﬁ
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64. €1 B SOMIHR UEY H OMATT 748

65.

66.

617.

[ Level-3 /5316

A B o T 14 A ok T
el Brewr 9 W B Uy & meR
e B

(1) o.z&-s@flfrm’j

) 0.5
@3) 1.0 @ﬁ@

m
(4) 1.5 af

G gt gqg;:?

(1) T (2) T
@) T 4) T

W 10 R @Y T B oo R
T gEH [0 R T ¥ =
X T SR AT A1 FAM: 5, 15
AT 15 Rl el &1 oo e
fog @ g M g e ?

(1) 20 fet (2) 15 fHt
(3) 10 fT (4) 5 fHl

frr aft a1 ol T %

(£]6 [g)m [Eg]‘iﬁ
d) " \g) " Uj ’

2T

w (5

IW 120
o )
p

%Eﬂ

B692833

133
) (ﬂi]
q

e

>

e SR
o

64. The

65.

66.

61.

metallic
Its

volume of the 3
cylindrical pipe 1s 748 cm .
length is 14 cm and its external
radius is 9 cm. The thickness of

pipe is equal to :

(1) 0.25 cm

(2) 0.5 cm

(3) 1.0 cm

(4) 1.5 cm

Line : Square : : Arc:?

<(1) Ring (2) Sphere

(3) Circle (4) Ball

Rekha walks 10 km straight and
then turns right and walks 10 km.
Then every time turning to her left,
she walks 5, 15 and 15 km
respectively. How far is she now
from her starting point ?

(1) 20 km (2) 15 km

3) 10 km f4) 5 km

Next term of the following series is :

5=

GS 8 }
=T
m
127
() (i{] @ [!—K]lsa
P q
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£y

68. A CH [ ? air p

A AW ¥ @D a%’r'a?%?qflg%t
o8 SR Eafiiy & |

1) T &)

(2 FRA/a o0

(3) T

(4) iy |

69. U JM P, Q, R S, R T w
FEER Yoo 1 S ek gdwe ged
?, T RA LMY AN g o
TRAE, ALYATY T g A
T g1 v i ¥ PR Q 3 @

a‘rma[gﬂ%ﬂﬁmaﬁq
T & 7 O

0
(1) Q
3 8

() R
4T

70. A,P,R X, Y3 ZTH UK H 93 g
BydRzagm FEAMN AT P
afqy it ©W & R, A & T&eA &0
A B P B wheA I SR AN

g B 7
(1) X (2) Y
(3) Z ;g (4) R

71. TR 10 REwR, 2022 F AFER o, @

8 Ry, 202%@ Hre-an o B ?
|

(1) fHaR

(2) qEr

(3) EHaR

(4) HTER

[Level-3/5316 ] Jﬁ
1

68.

69.

10.

11.

[19/B]

A is father of C and D is sonof B. E
is brother of A. C is sister of D.
How is B related to E ?

(1) Daughter
(2) Sister-in-law
(3) Mother

(4) Husband

Five men P, Q, R, S and T read a
newspaper. The one who reads
first, gives it to R. The one who
reads last, had taken from P. T was
not the first or last to read. There
were two readers between P and
Q. Who reads the newspaper last ?

1 Q (2) R

i
JOIE 4 T %

A, P, R, X, Y and Z are sitting in a
row. Y and Z are in the centre and
A and P are at the ends. R is sitting
on the immediate left of A. Who 1s
sitting on the immediate right of P ?
(1) X 2) Y

3) 2 (4) R

If it was Saturday on 10th
December, 2022, what will be the
day on 8th December, 2024 ?

(1) Saturday
(2) Sunday
(3) Monday
(4) Tuesday
P:T.O.
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12.

13.

14.

15.

frer qof Soft &1 oFIaT U8 S IR

MQNRO, JSKTL, GUHVI, DWEXF, ?
(1) AYBZC
(2) AZCYC

™
M
) QO
(4) BZCZD
R
IR tan 0 + sec 0 = 4, @ cos 0 &
qM &R 8

(3) BYBYD

17 8
] off -2
(1) S (2) T
15 17
) 17 (4) 15

zaaoﬁgﬂf%aﬂﬁ%ma%——r.ﬁ
g9 B e ¥ fuim &
aRw? o

(1) 2

Ne)
M
2) 3

3) 4 4) 6

P‘:'r45,0006®ﬁ@a}aﬂrqﬂ'@
fa iR %8 w94 &€ Q 30,000 BT
% | wEE gam AR af & o

AW B IO 2 0 1 @ e §
ster @I, & @F wiafid gon ?

(1) 3 H7E "
2) 4 HE &
(3) 5 HE &
(4) 6 HE &

[Level-315316]_,:'i..

I

12.

13.

14.

15,

Find the next term of the following

letter series :

MQNRO, JSKTL, GUHVI, DWEXF, ?
(1) AYBZC

(2) AZCYC

(3) BYBYD

(4) BZCZD

Iftan O + sec O = 4, then the value

of cos 0 is equal to:

17 8
(1) — (@) 17

; 2
3 13 @ 2
© 1 15

What is the smallest number by
which 2880 must be divided in

order to make it a perfect square ?
(1) 2 ) 3

3) 4 4) 5

P began a business with Rs. 45,000
and Q joined with Rs. 30,000 after
some time. If the profit at the end of
the year were divideq among them
in theratio 2: 1, when did Qjoin? .
(1) after 3 months

(2) after 4 months

(3) after 5 months

(4) after 6 months



76. I FT HEW 3 : 2« 5 F o §
W ¥ & 5T demelt 3 aft a
A 1862 B SR ¥ "4 At we
TR ' -
() 7 (2) 14
3) 2l o b 38

77. 5,290 T a‘ix%q A B3R C 3

e & st fem A ol B 3
R FE H ééﬁwﬁam{q%w
CEX Wi NI $o § §Rax T

(1) 920

(2) 900

(3) 880

(4) 850 =

o™
78. % = WRER 5% aiffs T & 2

T§ TR TR AR A A A
I 1559 B Ao SR @

(1) 2,000
(2) 4,000
(3) 6,000
(4) 8,000

9. %W@W,WW
8 o, 9 Hio 12 Hlo ﬁm&ﬁm@f
AN A gumR A B a3
qUEX BT B, SR B

(2) 17 Hlo

(4) 19 #lo

(1) 16 Hlo
(3) 18 Ho.

o bt
L]
-

[ Level-3/5316]

[21/B]

16. If three numbers are in the ratio
3 : 2 : 5 such that the sum of their
squares is equal to 1862, the

middle number is equal to :
A1) 2 (2) 14
(3) 21 (4) 35

11. A, B and C together completed a
work for Rs. 5,290. A and B
together did ;—95 of the whole work.

Amount received by C in Rs. is

equal to :
A1) 920
(2) 900 o
(3) 880 %
(4) 850

18. The difference Dbetween the
compound interest and simple
interest on a certain amount at 5%
per annum for 2 years is Rs. 18.
The principal amount is equal to :
(1) 2,000
(2) 4,000
(3) 6,000
(4) 8,000

79. The radius of a circular field,
whose area is equal to the sum of
the area of the three circular fields
having radii 8 m, 9 m and 12 m
respectively, is equal to :

(1) 16 m A2) 17 m
(3) 18 m (4) 19 m
P T Q)
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80.

81.

82.

83.

& HiEd %< AW H "sun shines
brightly" & "ba lo sul", "houses
are brightly lit" #H "kado ula ari
ba" X "light comes from sun" &
"dopi kup lo nro" @ oar B
"sun" "brightly" & o swsn:
9 e o=t 9 forar mr B 7

(1) sul, ba

(2) sul, lo

3) ba, lo

(4) lo, ba

el & ¥ fmr g9 of9
ARG Rarers qeied § araRug 7

(1) 787 Faq
(2) T

(3) AR

ik
(4) o

g % dal G & geH orege
B & 7

(1) T e

(2) TEMQ T I

(3) #m e

(4) ST U8

[ Level-3/5316]

80.

81.

82.

83.

J wﬁ'
[ ]
"

In a certain code language ‘sun
shines brightly" is written as "ba lo
sul", ‘mouses are brightly lit" as
"kadoéﬁa ari ba" and "light comes
from §fjn" as "dopi kup lo nro".
What @bde words are written for
"sun” and "brightly" respectively ?
(1) sul, ba
(2) sul, lo
3) ba, lo
(4) lo, ba

Which of the following wild life

sanctugies is located in Shivalik
hights®J
(o)
(1) Khﬂncalparwas Sanctuary
(2) Bhindawas Sanctuary
(3) Khol Hi-Raitan Sanctuary
(4) Nahar Sanctuary

Which of the following was the

theme State for the 37th Surajkund
International Crafts Fair ?

(1) Madhya Pradesh
(2) Rajasthan

(3) Magipur

(4) Giclj;hrat

N
Who @as the First Chairman of

HaIyazm Public Service Commission ?
(1) Dalbir Singh

(2) Darbari La] Gupta
(3) Bhim Singh
(4) Manoj Pandey

fied



of bt

-LII

AL

84. W {aM MM wem  wer
e g o ey R ?
(1) frates
@) g
3) ot @
@ TR

85.

86.

81.

W

Frfefen & -1 R Jeos
9T 7 Reqr 78 ¥ 0

(1) =R (2) §HIgg

(3) Ryar (4) e

BRAT # Ak yewa R 2023

wa@?mmﬁw?

(1) SifeH 991

(2) 3y Al )

(3)%%611@%

(4)mﬁqﬁrr$‘9

e ot 3 SR § fefeRad

FAl FH qfeT :

(A) oTfeE H T AR TeE B
UF M | ord R am

(B) g & oA TeE €13 &
ARGl %1 T Ui eI Al

78 A T A

(1) 99 F4 (B) qA B
(Z)WW@W%

(SJHE?rW(A)HéTW(B)
a2

(4) TF P g ¥

[ Level-3/5316 ]

84.

85.

86.

81.

[23/B]

Where the Institute of

Information Technology is being
set-up ?

(1) Kilohad
(2) Baraut
(3) Pipali Khera

Indian

(4) Rasulpura

Which of the following districts is
not part of Rohtak division ?

(1) Jhajjar
(3) Bhiwani

(2) Sonipat
(4) Rewari

The woman wrestler of Haryana who
received the Arjuna Award of 2023 ?
(1) Antim Panghal
(2) Anshu Malik
(8) Geetika Jakhar
(4) Sakshi Malik

Read the following statements about

Pehowa Inscription :

(A) The inscription was issued by a
ruler of Gurjar Pratihar dynasty.

(B) As per the inscription, Pehowa
was a famous market of horse
dealers.

Choose the correct code :

(1) Only statement (A) is true.

(2) Only statement (B) is true.

(8) Neither statement (A) nor
statement (B) is true.

(4) Both the statements are true.

P.T. 0.
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88. f=feifag ¥ & fpa AAlEC @@ el
afed

89.

90.

$ JerE Fw A ger whd & e A

H 7l P

(00
(1) THo Hoherd
2) dlo FHo bl
(3) FIAT Y
OREERELE]
W BIm F gl 7 Fefafed & @
P-T T T8 7

@A) TER ™ P B w7 " o

DRI P LEHAT Bl
(B) 91T ﬁﬁ#ﬁﬁﬂﬁ?wﬁ

(C) ¥ TRy I P THR § &
=Ha

aa‘??aﬁrawaﬁﬁn ‘

(1) a9 T (B) 71 (C) T ¥

(2) Fa@ FF (A) T (C) T 2

(3) Fad HYF (A) T B
(4) F¥F (A), (B) T (C) &l & -

gﬁﬂﬁ'@ﬂ 4 P-4 @& gAkm
?
(&) o T - fear
(B) STRH-TRET - A
(C) frg foraom AHR — A

(@)
7 92 41 Ay
(1) (&) T (C)
@) (& T (B)
(3) (B) T1 (C)
4) (A), (B) T (C)

FIoTC

88.

89.

90.

Who among the following did not
serve as the Chief Secretary
during the Chief Ministership of
Manohar Lal Khattar ?

(1) S.C. Chaudhary

(2) P.K. Gupta

(3) Shakuntala Jakhu

(4) Vijay Vardhan

Which of the following statements

about Sir Choturam are correct ?

(A) He began his career as a
Congress man.

(B) Later be joined Unionist Party.

(C) He was a Minister in the
government of Undivided
Punjab.

Choose the correct code :

(1) Only statement (B) & (C) are
correct.

(2) Only statement (A) & (C) are
correct.

(3) Only statement (&) is correct.

(4) statement (A), (B) & (C) are
correct.

Which of the following are
correctly matched ?

(A) Gujari Mahal -

Hisar
(B) Aram-e-Kausar - Narnaul
(C) Tomb of Sheikh — Jind

Tayyab
Choose the correct code :
(1) (&) and (C)
(2) (A) and (B)
3) (B) and (C)
(4) (A), (B) ang (C)

%

[Level3/5916) 434



97— IV / PART = IV i’ﬁ [25/B]
™A [/ CHEMISTRY

fder : ﬁwﬁ@ﬁﬂ%ﬁ%wﬁ%mmmﬁm

Direction : Answer the following questions by selecting tha most appropriate option.

N
\O

ol I MRl sk @ I Rewis o1.

If the rate constant for some reaction

k=38x10" Lmol™ 57 ¥ a5 zuey is k=8 x 10* L mol” 5, then its
Pife 8 : order is:
(1) 0 Mo
M
™
@ 1 @
o)}
L ©
@) 2 _ O
4) 3 | @ 3

92. fpdl i Afe 7 STEgW &0 B 92. Which test is used for finding

&z fer |1 qeT fepar S g7 unsaturation in an organic
compound ?
™M
(1) Teverd qderor (ly;l-laloform test
N
2 v aeyers test
(2) X qJetor % ( }éB y
(8) TET qdieor (3) Ester test
- (4) et adteror (4) Hinsberg test

of
[ Level-3 /5316 ] ﬁ P.T.O.
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93. Y9 Hfe H Rk $ R 99.9%

94.

95.

affhar gof 8% @1 g 50% o

B B R g ¥ 7
M
™M

1) 80T N
VA

@ 10 71 m

3) 5 T

(4) 2.5 T

Feiofes am-w JifFaEs, ams
wﬁaﬁﬁaﬁuﬁga@qﬁmm

AAME? i
- o
(1) TiO )
m
@) Cro,
(3) ReO,
4) Vo,

it o # e T deed arawn

Fady: o
(e0]
(1) 59 A
o
2) A =
(3) <0

(4) T Tl & R B el B

[Level-3/5316] iy

93.

94.

95.

For the first order reaction, the time
required for 99.9% completion of
reaction is how many times that

required for 50% completion ?
(1) 80 times

(2) 10 times

(3) 5times

(4) 2.5 times

Which of the following oxides is like
metallic copper in its conductivity

and appearance ?

(1) Tio

e

@) cro,
(3) ReO,

4) vo,

The enthalpies of all elements in

their standard states are :
(1) unity

(2) zero

(3) <0

(4) different for each element

96.

91

[ Le



96. Ca(OH), % 0.091 M R % pH

91.

98.

# T, Ca(Of, W T ST
AMHT HifSTT gj‘\

O
Q) 10

(4) 11.3

(1) 8

@3) 2.7

Afferer Theer & wEnr Pefalea & @
s fow v S @ ?

(1) W&F i
& @]

@) 3 R
o
m

(3) &

(4) FEEEYE

2N,0.(g9) —> 4 NO,(g) *+ 0,(9).

w ofem @ [ Sl T
6.79 x 10~ mol L min_ ¥, T NO,

F gaed & W o
e8]
-4 o == | Lo=1
(1) 6.79 x 10 @@11, min
o
i N |
(2) 2.72 x 10~ mol L ! min
- |
(3) 1.36 x 10~ mol L ! min

.-l
(4) 1.69 x 10~ mol L ! min

[ Level-3 /5316 ] ﬁ

96.

91.

[27/8B]

Assuming the complete ionisation of

Ca(OH),, calculate pH of 0.001 M

solution of Ca(OH), :
(1) 3 (2) 10
3) 2.7 (4) 11.3

Molisch's test is used to test which of

the following ?
(1) Protein
(2) Oil %

(3) Fat

(4) Carbohydrate

The average rate for the reaction

2N,0,(g) — 4 NO,(9) + 0,(9)

is 6.79 x 10~ mol L' min ", then the

rate of production of NO,is:
(1) 6.79 x 10™ mol L min"
@) 2.72x 10 mol L min"
3) 1.36 x 10° mol L™ min"’

(4) 1.69 x 10 mol L' min”
P.T.O.
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99. RN, IwEe od swEEREEWM & fU
298 K WX T&q WO« & W9 HU:
~890.3 kJ mol '(2393.5 kJ mol " ud
-285.8 k] mol 8l CH, # Rwew
At T A 1D

m

(1) -74.8 kJ mol ™’
(2) +74.8 kfmol™

(3) =52.27 kJ mol™

(4) +52.27 kf mol™

100. @aﬁrmasrmrﬁwmwwaar
W%mq&aﬁaﬁﬂﬁf@aﬁ%
ﬁsﬂ%w%?%

m
(1) AG, (2) AU
(3) AG (4) AC,

101. fg& (wd=-1, 2@;3&!#1?) FERE (100)
e & ¢ o
N
N
(1) [Co(en),] S%
(2) [Co(en);]; (SO)),
(3) [Co(en),]; (SO,),

(4) [Co(H,NCH,CH,NH,) ], (SO,),

"
[ Level-3/5316] Iﬂ

100.

101.

The enthalpy of combustion of
methane, graphite and dihydrogen
at 298 K are —890.3 kJ mol ', —393.5
i mol’ and -285.8 kJ mol
respectively. Enthalpy of formation
of CH, is :

(1) -74.8 kf mol ™’

(2) +74.8 kf mol’

(3) —52.27 kJ mol "

Bt

(4) +52.27 kJ mol™’

The wvariation of AH of a reaction
with temperature at . constan

pressure is equal to which of the

following ?
(1) AG, (2) AU
3) AG (4) AC,

Tris (ethane-1, 2-diammine) cobal
(IIl) sulphate is :

(1) [C'o(en)a] SO,
(@) [Co(en),]; (sO,),
3) [Co(en),], (s0O,),

(4) [Co(H,NCH,CH,NH,),), (50,);
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102. ﬁ“ﬁ'ﬁ@aﬁ%ﬂ%—maﬁmﬂﬁqm
3 T m@ e 2

102. Which of the following is correct for

areversible process ?
(1) ASgystem + AS

surrounding — 0 (1) AS:qrstaﬂn + ASsurroum:lim_:; =0

2) AS
( ) system + A*S‘S\.n*rov..u'u;lirllg <0 (2) Assyslem * A'S“mr1':::nmding <0
(Y |

3) AS +
( ) system Asségounding > 0 (3) Assystem * Msurrounding - 0

4) ASyrsem — AS,n
( ) yetamn ASS"@““&“Q >0 (4) Msystem = surrounding >0
;M
103. RS oFw pK, & omifvEw | 103. The pK, of acetic acid and pK; of
TRxTES W pK, FHAMW 4.76 AR ammonium hydroxide are 4.76 and
475 B AW WRe Rem @ 4.75 respectively, what will be the
pH 31 B 7 pH of ammonium acetate solution ?
5 ' ) . .
{17 S.? (1) 7
N
() :
(2) 7.005 O (2) 7.005
M
(3) 9.51 | (3) 9.51 %
(4) 0.01 (4) 0.01

' d® € i follown compl
104, Preifoia foa &@Fg A spd §ICT 104. Which of the following complex
2]

posses spsd 2 hybridisation ?

qr S B 7 o0

™ &
( . 1 C F
(1) [COFG]S_ tg ( ) [ o 6]
M (2) [Co(NH3)3]3+

(2) [Co(NHy)l d 3
. (3) [Co(C;004]
(3) [Co(C,04)s)

3 (4) [Mn(CN)g]~
(4) [Mn(CN)l

[Level-3/5316 ] ﬁﬂ
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[30/B]
105. A ReRis K, 3 g & ¢ 105. The unit of_':c’}tryscopic constant K, is : 108
o
(1) Kmol™ (1) Kmol’}
O
(2) kg mol™ (2) kg mdf"
(3) Kkg mol™ (3) Kkg mol ™
(4) Kkgmol' (4) K kg mol’
106. T% IHH ¥ e g 701 J O™ 106. In a process 701 J of heat is
SN B § T 394 J wH fer absorbed by a system and 394 J of |
ST B T WA R SfiaR® oot # work is c@’te by the system. What
fpaT qiREds 8rm ? is the cha%e in internal energy for
_ the proceg ?
(1) =307] ' (1) =307
(2) +307J %E (2) +307J
(3) 1095 (3) 10957
(4) -1095] (4) -1095 ]
107. fr=fafea o fefm @ 4 @ & 10Z. Deficiency of which of the following
? . : .
H gFH T B g | 'ﬂ'@ Bt ® vitamins gauses increased blood
clotting ti{;& ?
(N
(1) faerfim K (1) Vitamis K
Rrerf M
@) E (2) Vitamin E
(3) faeIf By (3) Vitamin B,
(4) Faeir B (4) Vitamin B,

[ Level-3/5316] : ?ﬂ



108. 1 % 107 M HCI 3 g P o
pH FI & ?

(1) 8

@) 17

B692833

(3) 6.96
4 1
108. Eu H 4@ o9& § @ oagie

fommg B :
(1) 4f7 65"

™

o
(@) 4 5d%%s"

O

3) 4f" 5d"bs°

(4) 4f°6s°

110. freifafad & & & 36E & 7

(1) Ny

2833

@) 0, &
m
3) NO;

(4) BF,

lever 3/ 5316 ]

4 lh'a'i
-

[31/B]

108. What is the pH of a 1 x 10° M

109.

110.

aqueous solution of HCJ ?

(1) 8

(2) 7

(3) 6.96

41

Outer electronic configuration of Eu
in ground state is :

(1) 4f" 65’

2) 4f"8d' 6s”

@3) 4f'5d° 65’ @

(4) 4f° 6s°

Which among the following is
linear ?

(1) Ny

(2) CO5

(3) NO;

(4) BFy

P.T.O.



[32/B] ;ﬁ

a8 Q
111, Ny(@) + 3H,(g) - 2NHXg) AH° = 111. N,(g) + 3H(9) — 2NH,(9) AH° ]

N -1 ;
-92.4 K mol NH, @q H HqH —92.4 kf mol , what is the standar

m

e ot s 8 7 enthalpy of formation of NH,(g) ?
(1) -23.1 kf mole™’ (1) -23.1 kf mole™
(2) 46.2 ¥/ /mole o (2) 46.2 kf /mole

™M

©

N
(3) —46.2 kJ /mole ?8 (8) —46.2 kJ /mole

¢ i
(4) -92.4 kJ /mole (4) —92.4 k] /mole

112. fr=fifad & & $9-a1 w9 s 112. Which of the following complex does

QHEEEd gefd 787 Har ? ' not show geometric isomerism ?
(1) [Pt(NH,)(Br)(CD(Py)] (1) [PHNH,)(Br)(CI) P)]
™
™
@) [PNHY,CL] &
32~z g (2) [Pf(NH3)2C12]
(@)
m

©) [ColVH) ) ®) [Covhy,cr 1t

(4) [NiC1,]*

[ Level-3/5316 ] iﬁ
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113. -1 H -1 & g $ifre qor

-1 -1
Lo omeet R (@) AT ok
OB}
L oY REed b) oW o
(e fererer) TR

m. SRy e () =N &R
(FoTeT free) S ES

% -

(1) IL-a, I-b, -

2) I-c, II-b, Ill-a %
@) I-b, II-c, ll-a

(4) I-c, II-a, llI-b

114. Fr=fefaq fed dat & g & SR
qaH 78 e ?

(1) Nb/Os
(2) Zr/Hf
| (3) Pd/Pt
(4) Mo/W

[ Level-3 /5316 ]

113.

114.

;ﬂ [33/B]

Match the List-I with List-IT &

select the correct option by given

codes :
™
dst1 List-II
(O}
L. }ﬁeal solution (a) Acetone
and
ethanol

II. Nonideal solution (b) Acetone

and
(Positive deviation)

chloroform

Ill. Nonidealsolution (c) Benzene

aegative deviation) and

% toluene

N
Codés :
M

(1) I-a, Il-b, lll-c
(@) I-c, II-b, lll-a
3) I-b, Il-c, lll-a

(4) I-c,II-a, llI-b

wmf% of the following pair of
eler@nts does not have same size ?

)
(1) Q»/Os
(2) Zr/Hf
(3) Pd/Pt
(4) Mo/W

e P.T.O.



[34/B]

115.

116.

1117.

RS i S taics Sk B C R
sHRAl A FEAl 3 eRgife aiEl
ER B { g ot © ¢

() ¢, ¥R C,
@) ¢, 3 C,
3) ¢, ¥R C,
@) C, ¥R C,

Frfofed ®9-@1  d=FEs Mo,
dAfeares § +4 SifRfiERoT orEwn 78

T e ?
(1) Nd (2) Pr

(3) Dy 4) Yb

Cd|CdCl,.5H,0 (8q9) || AgCly|Ag
@ % EMF 256°C W 0.7 Volt ¥,
g% [0 9 Sor gfiEd ©

(1) 135.1 k
(2) -135.1 k] %
(3) 67.55 k]

(4) —67.55 kJ

[ Level-3/5316 ]

o B2
-
- -

115. In nucleic acid thgﬂqsugar units in th

116.

117,

furanose joined

phosphate thIou@ hydroxyl group

of which carbons qj

form are
N

(1) C,and C,
(2) C,and C;
8) C,and C,

(4) C,and C;

)
Qo

Which of the folfgwing Lanthanoid
Re)
does noft exhibit +4 oxidation stater

MO2 oxides ?

(1) Nd @) Pr

() Dy (4) Yb

The EMF of the cell Cq| CdCl,.5H,0

(saturated) || AgCl, |Ag is 0.7 Vol

at 25°C, the free energy change fo

itis: ™M
)
QO
1881y
O
(2) -135.1 gy -
(3) 67.55 ky

(4) -67.55 kJ i'ﬂ



119.

120.

[Level3 /5316 ]

q I gy
alr] _
v da -k

@) [R] = [R],e™

[R {"jj
(8. 4, = O
B B

(@)

(4) T X G [R] @ ¢ B A
g

d’ oY A R TeHTHE Hog B
CFSE B : |
(1) -1.24, ¥

cO
2) 0.4 A, o

O
(3) —0.6 A, m
(4) —0.84,

wF A [Co(VH,),CLIC! BT e
% AgNO, @ M AgCl % Al

BoEE
Q!

(1) 0 i
08}

@) 1

®) 2

4 3

i

118.

119.

120.

[35/B]

Which of the following is incorrect

for zero order reaction ?
d[R]
1) =24
(1) dt "
(2) [R] = [R],e™

[R],

3) b, ==

(4) straight line plot is between
[R] Vst

In Octahedral Complexes of d *
metal ions have a CFSE of :

(1) - 1.2,
(2) —0.4 A,
3) —0.6 A,

=2

(4) -0.84,

number of moles of AgCl

mole of

The
precipitated by 1
[Co(NH,),Cl,]CI with excess AgNO;

is :
(1) 0
@) 1
3) 2

4) 3
P.T.O.



[36/B] iﬁg

121. ffefed § & #9-8 @ + 999 121. Which of,the following group

S ¥ ? exert + eféct ?
8
(a) CO; (a) CO, B%
(b) OR (b) OR
(c) OH (c) OH
(@) O (@ O
(e) SQR 1 - (e) SQR |
fY‘.
o
® NH; | () NH;
_ o
1) ®), () I @ (1) (b), ()& ()
2) (0), (d) AR (e) - @) (c), (d) & (e)
(3) (a) 3 () | (3) (@) & (d)
(4) (a), (b), (c) ¥R (d) | (4) (a), (b), (c) & (d)

122, dE % S @ YOG W 122. With increase in temperature tt

CIRETIER conductivi(gg of metals :
(1) S5t & | % (1) Incre%es

(2) gedt & | (2) Decreses

(3) T &l § (3) Remain constant

(4) e sgdl ¥ MY wedt ¥

(4) First increases then decreases

[ Level-3/5316] ﬂﬂ



123.

124.

125.

Oz%mmaﬁﬂk'ﬁﬂqﬁ

T ¥ S o a1 e
(1) st &

(2) Heat B %
(3) R &t ®

(4) Tea get R e @ s

R @ 4s AR G A
Rar ST ATl Sl ARG A §

(1) 2.2
2) 1.1
(3) 4.2

(4) 3.4

1Levg|-3 /] 5316 ]

123.

124.

125.

s

Which one of the following metal ion
is not coloured ?

[37/B]

(3

) 1

B69283

3) sc**

4) cu®

KH value for Oz increases with

increase oggtemperature then its
0
solubility ~with decrease of

(o)}
temperaturegwill :
m
(1) Increase

(2) Decrease
(38) Remains constant

(4) First decreases then becomes

constant

The effective nuclear charge

experiencea;by the 4s electron of

potassiumi&,)
o

(1) 2.2 m

2) 1.1

3) 4.2

(4) 3.4

P.T.O.



[38/B]

126. n-3FT B Vg F WR HFE
JfFEe B FW § a9 W AR
480-550°C TR X a4 W W &

are A ®©
(1) dEEReRT
(2) SEBRT

(3) I=IA

(4) TEERICTRAN

127. o & @ R om0 &
T TR oY © 7

(1) HI (2) HBr %

(3) HCI (4) HF

128. FHF-[A] : <hNG "M TS
ofeps dRA 20§ S @109 H,0, @
Y ST W UG e

T 2
HYF-[B] : UM B SUUK GHA ST
o F99H G4 )T Bl B

(1) Bt Fu9 [A] 3R [B] A &I
(2) Tt F [A] AR [B] @A B

(3) U [A] G4 & A FA [B]
Y B

(4) T [A] HE ¢ AR FA [B]
a4 o

[ Level-3 /5316 ]

126.

121.

128.

under pressure passed
on an

n-hexane, "
over chromic oxide carrie

alumina support and heated at

480-550°C gives compound :

(1) Cyclohexane

(2) Biphenyl,
™M
€0

(3) Benzen s

(4) Cycloh%anone
M

Which of the following has the
highest percentage of ionic

character ?
(1) HI (2) HBr

@) HCI o (4) HF
o

S‘tatement-[%] : Terminal alkenes
give prima% alkyl boranes which
on oxidatifl with alkaline H,O, |
produce primary alcohol.

Statement-[B] : The above overall

hydration of alkene occur by cis-
addition.

(1) Both Stg?ments [A] and [B] are
true.

N

2

(2) Both St%ments [A] and [B] are
false. m

(3) Statement [A] is true put

Statement [B] is félse.

(4) Statement [A] is false but
Statement [B] is true




129. The oxidisi®g power decreases in
. 00]
which of therfpllowing order ?
o)

[39/B]

(1) I2>BI' >
Cl, >

(2) F 3 e M 13>Bra§C12>F2
> CL &
27 a2 B>, (2) F,>Cl,>Br, >1,
@) IL>F >

2= 52> Bry >y, (3) I,>F,>Br, > Cl,
(4) P2>I2>Bra>(:'}2 (4) P2>12>B!2>C12

™M
- The radial %ction R(r) depends on

130. @ & R Prefuiag Hqreq 130

HeeT 7§ § B W PR R 7 which of %a following quaritum
number ? M

1) s (1) s

2) m @  @m

(38) TFl n X 1 (3) Bothn and !

(4) SUUFT gt | | (4) All of the above

, ich of the following catalyst is
131. Frefafad fFE S8R® & ST a9 131. Which of th g

gfepar & CZH4 G CH,CHO ¥ e used in goWacker process for
? ' converting QH, to CH,CHO ?
& fra fear or & &
(1) TiCl ) mict, &
3
FeCl (2) FeCl,
(2) FeCiy
(3) PdCl,
(3) PdCl,

(4) V2Os

4) V,04 ﬁ
P. T.:p.

[ Level-3 /5316 ] |



132. S WY HHF Fedl & FBee
AR o L’ A amafes B

[40/B]

™M
(1) geadt ¥ ¥
N
(@)

(4) Te0 et ® PR e ®

133. VSEPR R¥&T< # SN %A §Q I,
aee % fg Fefoied & @ S99
T TATE 7

(1) 3¢ T9 I & S 1L, Oy Sl KT
F g S Bl ©

™
(2) & §T& BriCl™ %@mm ]

(3) 3= 1 WA ¥ ¥R R g
B 2l

(4) I, ST&9 180° % ¥ T & AY
™ B

134. Fr=feiEd fod plRia & asg &t ad
T HIY T Cu B HYE § AR

T W UfcgeEe g Hem g T8
B ? '

(1) (CH,),COH

B6928

(2) (CH,),CHOH
(3) CH,CH,CH,0H

(4) CH,CH,OH

ol ot
[ Level-3 /5316 ] ﬂ

132. As the atomic

133.

134.

number increases the
jonic radii of tripositive Lanthanon
. 3+ ,

ionsLn

(1) decreases

(2) increases

(3) first increases then decreases

(4) first decreases then increases

Which of the following statements is
incorrect for I, ion using VSEPR

theory ?

(1) Itis formed when ], is dissolved

_ in aqueous KI.
(2) Its structure is similar to BriCI .

(8) The central I atom contains four
electron pairs.

(4) I; ionis linear with bond angle
of 180°.

Which of the following alcohol
vVapour passed over heated heavy

metal catalyst Cu does not give
aldehyde and ketones ?

(1) (CH,),coH
@) (CH3)2CHOH %ﬁ
®) CH,cH,cH ol

4) CH,CH,0oH



135. 3R 5859 Nacy @ 90g W@ #
ol B s, @ Nacy B A

136.

of Bt
:' W
o

R @"TT 1
™
(1) 0.04 w0
(Q\]
(@)
@O
(2) 0.10 ™
(3) 0.0196
(4) 0.20
™
0

' [o0)
CH,-CH= CH—CH%HQCN

R AIH(i-Bu),

(2) H,0
U SATHEHAT HT IS &
(1) CH,~CH,~CH,~CH,~CH,-CN

(2) CHy~CH=CH-CH,~CH;~CHO
)

0 0]

[N
(3) CHyCH,~CH, S H,~CHy-CHy-INH,
m

(4) CH,-CH=CH-CH-CH,COOH

[Level-3/5316] ﬁ

r

135.

136.

[41/B]

If 5.85 g of NaCl is dissolved in 90 g
of water, the mole fraction of NaCl

is :

(1) 0.04

(2) 0.10

(3) 0.0196 %

(4) 0.20

CH,~CH=CH-CH,~CH,CN
€))] AIH(I'—BU)Z .
(2) H,0

The product of above reaction is :

(1) CHy-CH,-CH,;~CH,~CH,~CN

(2) CHS__CH: CH-CH. B—CH 2—CH (@

(3) CH,-CH,~CH,~CH,~CH,-CH,-NH,

(4) CHS_CH::CH—CTfa—CTfZCOOH

Pods O,



[42/B]

137. FefoReag & § P9-a1 s dqo

138.

139.

qg § Seaaq  olfefieter o
T 8 7

(48]
™M
0

(1) F N
(@)
NS

) CI” m

(3) Br~

4) I”

131.

138.

139.

Which one of the following ligands
can bring out the highest oxidation

states in a transition metal ? |
(1) F

(2 cr

(3) Br

ORS

Which of the following explains the

fact that o-nitrophenol is more

volatile than p-nitrophenol ?

(1) Hybridisation %
(2) Hydrogen bonding
(3) Resonance

(4) Steric hinderance

Which one of the following is least
covalent ?

(1) va,
() vy,
@) va,

4) voci,



..n.s::
Lrtie;

140. M=o & ¥ Pvar @ 4

141.

142.

[Level-3/5316] :':-"J';"-ii
I

STFRABT ey gy L 7

(1) La @
4,

(2) Eu N
W‘
[

3) Gd

(4) Ce

ﬁﬂﬁf@aﬁ@rﬁﬁ—m?ﬂﬁmmﬁa
%ﬂ?%wmma‘? TR ?

M aiéﬂ-wﬂ@

(2) 2-FAA

(3) 2-Afa NO9-2-3ifd
(4) n-Of@ AR R

frfafag & 4 feg seg faaaw &
feries famg Frretam & ?

(1) 0.1 m @H

5,

(2) 0.1 m NaCly
N

' an

@) 0.1 m “THE

(4) 0.1 mBaCl,

Trie:

140.

141.

142.

[43/B]

Which one of the following forms a

stable +4 oxidation state ?
(1) La

(2) Eu

3) Gd

(4) Ce

Which of the following compounds
in not isomeric with diethyl ether ?

=

(8) 2-methyl propan-2-ol

(1) Butan-1-ol

(2) 2-Butanone

(4) n-propyl methyl ether

Which of the following aqueous

solution have the lowest freezing

point ?

(1 b.l m sucrose
(2) 0.1 m NaCl
(3) 0.1 m glucose

(4) 0.1 mBaCl,

e E_" T." O



[44/B] ey
L
Al,O AJ203
143. CH,~CH,-CH,-CH,-OH —223, 143. CH-CH,~CH;~CH,~OH —_
360°C
A—B—rz—-pBﬂ;c A Brz—pB KOH > C
OB ] Ethanol
The IUPAC name of the compound
A 'c’ 7 WPAC T ¥ : .
C'is:
(1- I‘N 53?3 rm'fll
) (1) 1-Bromo butane
@) 128N =
(2) 1-Butene
(3) 1-SEred |
(3) 1-Butyne
4) 1-sNE
& @ (4) 1-Butanol
144. TF T W GHT FHiE 87 T 144. An element with atomic number 87
I il & fpe «ife @ deftd belongs to which block of periodic
(@
g? table ? @
a4}
(1) s-=H - (1) s- block
(2) p- =M% (2) p - block
(3) d - =% (3) d - block
(4) f-<Ao® (4) f- block
145. UG Rrre W @ @Y STHIDA 145. The CFSE of d° configuration with
e & d° fawarg %1 CFSE & strong ligand field in octahedral
™M
complexig:
&
(1) -0.4 (2) -2.4 (1) -0.4m () -2.4
(3) -06 4) -1.2 @) -0.6 4 —1.2

[ Level-3/5316] | :Iﬁ



i

[45/B]

146. R 3 3 Ry e & o
AR d B o ¥

m

146. Which of the following species have

same shape and bond order ?

(1) O, NO,

(1) 0,, NO;
e ko @ €0, 0,
® No;,co, ) @) NOj, co,
o0
i = N i ~
(4) Ny, NO; O 4) N;, NO,
M
. HGAA <l A e corrrect order o t ionization
147. Fr=iofed & wem TR 147. Th der of first ionizati
FE L " enthalpy among the following is :
(1) Mg>Al>Si>P>S (1) Mg >Al>Si>P>S§
(2) AI<Mg<Si<S<P (2) AI<Mg<Si<S<P %
(3) Mg<AI<Si<P<S (3) Mg<AlI<Si<P<S$S
(4) Al<Mg<Si<P<S§ (4) AI<Mg<Si<P<S

148. n = 4 # G‘l'jam Taggl @ 148. The permissible number of

g o electrons inn = 4 will be :
")
(¥ §]
: 8
(1) 8 R Q)]
Eij
2) 18
(2) 18 (@)
(3) 32

(3) 32 25 ﬁ

1. (4) 64

4) 64
( - P.T.O.

[ Level-3/5316]



46/B ]

149, Fr=fofed & @ FA9-wr F99  E)
fciteT otk & v 79 ® ?

() ® ¥ oRew Bams Rufd
BIFR U% HEYNET S92

@) T ® ¥ gx RAW IO 56T
2

3) & W & I§ T A v Ry

WA B N R T 3
et B |

(4) ¥R F F=a Sgv q Affer @

T 9% it B
B

). 1§ He-2-3MET H T Alrn @ JE
ST ®, @@ &1 a1 A # IUPAC
™R

(1) A=

(2) 1, 3, 5-gEARE A=
(3) THIARE Ifisy

(4) TET SlfFRREH

o

149. Which of thecfollowing statement is
) N
incorrect {8 E1  elimination
(@)

reaction? 'O
m

(1) In the first step the alkyl halide

dissociate to form carbocation.

(2) In the second step the base

forms the elimination product.

(3) A protomnis removed from a
28!
carbon that is adjacent to

)
positivel;gcharged carbon.
l

(4) The increase in concentration
of base increases the rate of

reaction.

150. When but-2-yne is passed through

heated tube the IUPAC name of

compound fox;;)ned 1S :
™
0

(1) Benzene X
B

O
(@) 1,3, 5-trifethyl bengene
3) hexamethyl benzene

(4) cyclo Octatetraene

e

12 /R216 l

—— e

dioss
M

"ﬂ :





